



$$-\frac{1}{4} \ln(1 - v^2) - \frac{1}{4} \ln(1 + v^2) + \frac{3}{4} \ln(1 + v^2) - \frac{3}{4} \ln(1 - v^2) = \ln x + c$$

$$\frac{1}{2} \ln(1 + v^2) - \ln(1 - v^2) = \ln x + c$$

$$\frac{\sqrt{1 + v^2}}{1 - v^2} = e^c x$$

$$\frac{\sqrt{1 + \left(\frac{y}{x}\right)^2}}{1 - \left(\frac{y}{x}\right)^2} = Kx$$

$$\frac{x^2 + y^2}{(x^2 - y^2)^2} = A \quad \text{no simplification.}$$

4)  $\frac{dx}{dt} = \frac{x}{t} - e^{\frac{x}{t}} \quad \text{let } \frac{x}{t} = v \Rightarrow \frac{dx}{dt} = t \frac{dv}{dt} + v$

$$\Rightarrow t \frac{dv}{dt} + v = v - e^v \Rightarrow t \frac{dv}{dt} = -e^v \Rightarrow \int e^{-v} dv = \int \frac{-1}{t} dt$$

$$\Rightarrow -e^{-v} = -\ln t + c \Rightarrow v = -\ln(\ln t + c)$$

$$x = -t \ln(\ln t + c)$$